AxXyFhy S
F13ERFTIYFRINF—T VIV ITNRTFZRPI=F AV}

#1A FRE29®€ 108298 (A)

=% MARIZIPRAET = X2—+

BFd—I)LF CeAITAKXRE
(AR—FAK) 9

=T 817
1 Al
ATA 1
BB A
2 C1 —
BT K 3
EHE & 1
3 D2
ATA
4 B2
=R &
5 E1
RTC 6
g &P 51
6 D1 -
Hv 74 XTC 6
Sl =
7 A2 —
B ARBERE
FIE 6
8 C?2
J REBAR 9
BIEH BiE
9 E 2
77— 10
vl (=1 o
10 B1
FNREER
(Bb—FAk) 6
LZER B
1 A3
BT KZF 2
;AR B
2 D3
BT K 2
AR HK
4 C3 -
H74XTC 10
EH tHE
7 A4 - 54
BT K 10
EHE kRt
8 C4
77— 10
2 E
10 B1
Ry =2




BFJ1)—>(23)

(AR—FA2F) 10

11

FEE AR
1 Al -
B KB ZEER 1
E2H ®
2 E1 -
BIRA T = X EB
3 B2
WA
4 C1
TDK
= +&5= JH=
5 F2 ﬁ*lﬂ |:|_L 4
B RAEZEER 5
N
6 D2
F£TC
B2 OEFE
7 C2
JLFHETC 7
el R 7
8 F1
AAC
9 D1
A MK
10 A2
2<—FTC 11
HEa I
11 E2
JLFHETC 11
WA FTK
12 Bl
TDK
(BF—FAH) 4
PR 1EKBR
1 A3 -
BRI T = XER
NP TR Ek
6 C4 _
BIRA T = ZEB
SEMR BE
7 F3
TDK
Rk F=E
8 Ad

7=

54

11
54



BF d—IJ)LF(A~E) 184

A 1 2 3 4 R | —LIEE|  JBfL
1 T S B KF 35 45 45 0-3 4
2 =T &17 ATA 53 51 50 3-0 1
3 ZEb B B KF 54 15 15 1-2 3
4 %l = B R(ERER 54 05 51 2-1 2
B 1 2 3 4 A | —LIEE|  JBEfL
1 e EF lLETC 63 26 1-1 2
2

3 E Et B RF 36 57 0-2 3
4 oa 1 <X MREETE 62 75 2-0 1
C 1 2 3 4 R | —LEEE|  JBfL
1 FIfE JREHRK 53 35 52 2-1 2
2 EAAR KK #7414 XTC 35 52 54(6) 2-1 3
3 A & By KT 53 25 54(3) 2-1 1
4 RHE Rt 7= 25 45(6) 45(3) 0-3 4
D 1 2 3 BEER |/ —LEBER JIE i

1 HE &M ATA 64 16 1-1 2

2 i3 N = BT KF 46 26 0-2 3

3 g &P #7414 XTC 61 62 2-0 1

E 1 2 3 BEER |/ —LEBER JIE i

1 AR EE 71— 57 0-1

2 "R R RTC 75 64 2-0 1

3 BIFH  BEiE 71— 46 0-1




BF J)—2(A~F) 224

A 1 2 3 4 R | —LIEE|  JBfL
1 Ry Ak ZAw—hTC 35 51 51 2-1 2
2 PR ETHR B R(EREL 53 25 50 2-1 1
3 MR IEKER BRHT = X BB 15 52 53 2-1 3
4 w®iR F=E 7= 15 05 35 0-3 4
B 1 2 3 4 A | —LIEE|  JBEfL
1 WA Z=mK TDK 53 51 2-0 1

2 5H#H & Fay/—X 35 35 0-2

3 AN/ THTC 15 35 0-2

4 IR ESR 71— 53 53 2-0 2
C 1 2 3 4 R | —LEEE|  JBfL
1 2R BF JERETC 45(5) 54 54 2-1 2
2 A AF TDK 54(5) 51 51 3-0 1
3 B HhiT oy XTC 45 15 50 1-2 3
4 AN BIRHZT = X8 45 15 05 0-3 4
D 1 2 3 4 R | —LERE|  JBfL
1 REE &M RTC 35 52 52 2-1 2
2 MR 5 THTC 53 51 2-1 1
3 BN 8= Ly B ZTC 25 45(5) 1-2 4
4 AN BE BFo—>TC 25 15 54(5) 1-2 3
E 1 2 3 BEER |/ —LEmBER I iz

1 =SV 2<—hkTC 46 16 0-2 3

2 =H %@ BRHT = XEB 64 64 2-0 1

3 META JERETC 61 46 1-1 2

F 1 2 3 BEER | —LEgER & iz

1 I EXR AAC 63 62 2-0 1

2 =iE 5 B R(EZEEL 36 60 1-1 2

3 Tk EE TDK 26 06 0-2 3




BF LYyrF(A~C) 94

A 1 2 3 BRER | —LEBE JIE {22
1 ®BE B= TDK 63 60 2-0 1
2 IR N =) MR 36 62 1-1 2
3 =R ®BE TDK 06 26 0-2 3
TF 1 2 3 BEEL |y —LEmEER [=Riv
1 RABE R HFTC 62 62 2-0 1
2 R ETETF AAC 26 64 1-1 2
3 BH FER KERZ 7H— L 26 46 0-2 3




